Name: Soluticas

Worksheet 10.3a — Polar Coordinates

1) Convert from rectangular to polar 2) Convert from polar to rectangular
coordinates. (LT: 6a) coordinates. (LT: 6a)
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3) Convert the polar equation to an equation in 4) Convert the rectangular equation to an
rectangular coordinates. (LT: 6a) equation in polar coordinates. (LT: 6a)
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Name: Solutions

Worksheet 10.3b — Polar Coordinates
Sketch a graph of the polar curve on the grid provided. (LT: 6b)

r =2+ sinf

r = 2cos0




Sketch a graph of the polar curve in the xy-plane. Label all intercepts. (LT: 6b)
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r =34 3cosf
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Name: olvtions

Worksheet 10.3c — Polar Coordinates

1) The figures below show the graphs of r = sin26 in rectangular coordinates and in polar coordinates
where it is a rose with four petals. Identify:
a) The points in (ll) that correspond to points A-H in (l).
b) The parts of the curve in (ll) that correspond to the angle intervals
D[oz], i) 5] ) [nF] w) [52n].
(LT: 6b)

r

( |) Graph of r as a function (Il ) Graph of r = sin 26
of 6, where r = sin 26, in polar coordinates.

2) Sketch a graph of the polar curve. Label all intercepts. (LT: 6b)
a) r=sin30




Name: S,(cfions

Worksheet 10.4a — Areas and Lengths in Polar Coordinates

1) Setup anintegral to compute the length of one loop of the polar curve, r = 2cos36. (LT: 6e)
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3) Find the area of the inner loop of the limacon with polar equation, r = 1 + 2sinf. (LT: 6c)
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Name: 9slutions

Worksheet 10.4b — Areas and Lengths in Polar Coordinates

1) Consider the figure below.
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2) Supplement: Find the area of the rectangular stage shown that lies within the pickup region of the microphone which
is located at the origin. The pickup region is the region within the polar curve given by the equation, r = 8 +
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